
  Psychology 492 Laboratory Homework  #2  
    Name ________________________

Walk-Through #1: Multiple-Between-Group ANOVA with pairwise comparison                data set ( clinical.sav
RH: Married folks report greater social support (friend, family, and significant other) than single or divorced folks (who are equivalent to each other).

First, let's take a look at our "IV," marital category…

·  Go to the data window and click on the "Variable View" tab on the bottom

· Click on the box on the "Marital" row and the "Values" column, then click on the gray box that appears

· The window that appears tells you that we have five "marital" categories

· Run a frequencies on "marital"   Analyze ( Descriptive Statistics ( Frequencies  & move "marital" into the "Variables" window

· You'll notice that in addition to the three target groups there are also a few "separated" and "widowed" folks -- but too few to represent their respective populations.  

Second, we need to tell SPSS to only analyze data from single, married, and divorced cases (codes on the "marital" variable of 1, 2 & 3, respectively).  Here we go…

Data ( Select Cases    

· Click the button for "If condition is satisfied".  

· Click the "IF…" button.  

· This takes you to a window that allows you to specify which cases in the database you want to include in the analysis.  

· Type the following into the textbox in the upper right…   (marital = 1) or (marital = 2) or (marital = 3)  [note, the bar that looks like an l is the symbol for “or”].  This tells SPSS to select only people with a marital status of 1, 2, or 3.  
Now we can do the analyses we need to test the RH: 
Friend social support
Perform the omnibus-F analyses for the first DV and write down the information you'll need to interpret and report your results below.

· Fill in the means below and compute and fill in the pairwise mean differences (<,>,=)
· Compute the LSD minimum mean difference
· Fill in the p-value for the estimated marginal means (EMMEANS) comparison 
· Use these SPSS pairwise comparisons to fill in the pairwise mean differences

· Compute and fill in the effect size for each pairwise comparisons

F= ________df = ____, ____  MSe = __________ p = ​​​​​______  

Computing the LSD:

k = _______,     n = _______,     MSerror = _______,     dferror = _______,      LSDmmd = _______
	Pairwise Comp
	married vs. single
	married vs. divorced
	single vs. divorcee

	Means Comparison
	
	
	

	EMMEANS p-value
	
	
	

	r
	
	
	


· Identify any pairwise mean differences that fall in each of these categories

· Pairwise differences we are confident are  "significantly different" based on EMMEANS comparison.
· Pairwise differences we are confident are "not significantly different" based on EMMEANS comparison.
· Pairwise differences that are “too small to care about”

· Pairwise differences for which we may have a power problem
Your Turn #1 -- Complete the analysis for this DV.  

Family social support

Perform the omnibus-F analyses for this DV and write down the information you'll need to interpret and report your results below.

· Fill in the means below and compute and fill in the pairwise mean differences (<,>,=)

· Compute the LSD minimum mean difference
· Fill in the p-value for the estimated marginal means (EMMEANS) comparison 

· Use these SPSS pairwise comparisons to fill in the pairwise mean differences

· Compute and fill in the effect size for each pairwise comparisons

F= ________df = ____, ____  MSe = __________ p = ​​​​​______  

Computing the LSD:

k = _______,     n = _______,     MSerror = _______,     dferror = _______,      LSDmmd = _______

	Pairwise Comp
	married vs. single
	married vs. divorced
	single vs. divorcee

	Means Comparison
	
	
	

	EMMEANS p-value
	
	
	

	r
	
	
	


· Identify any pairwise mean differences that fall in each of these categories

· Pairwise differences we are confident are  "significantly different" based on EMMEANS comparison.
· Pairwise differences we are confident are "not significantly different" based on EMMEANS comparison.
· Pairwise differences that are “too small to care about”

· Pairwise differences for which we may have a power problem
Walk-Through #2:  Trend Analyses -- most trend analyses are of repeated-measures data, as in this exercise.

First a "warm-up" draw each of the following trends


Positive linear



    negative linear



U-shaped quadratic


Inverted-U-shaped quadratic

    initially decreasing cubic

   initially increasing cubic

Positive linear & U-shaped quad

    negative linear & inverted-U quad

Linear & cubic (either)


 "Diminishing returns" trend

   "Increasing returns" trend


"learning curve" trend

Data set ( (socskills2.sav) 

This is a follow-up study to the social skills training experiment we explored during the first lab.  In this version, weekly scores were obtained from each of the participants.  The researchers' original hypothesis about this study was that each of the primary DVs (self-report, role-playing & observation) would be successive improvement for each DV -- that is, that there would be an improvement in each DV for each week.  Upon hearing about trend analyses, the researchers thought they would change the wording of their research hypothesis to be "There will be a positive linear trend for each of the DVs."

Stop & "Think! --  Are these really two versions of the same hypothesis?

To test the RH: of "successive improvement" -- how would we test for that, using pairwise comparisons?

To test the RH: of a positive linear trend -- what "shapes" should we test for, and what is the only result that provides complete support for that RH: ???

Draw a pattern of data that would support both the "positive linear trend" and the "successive improvement" RH:s.



   1                  2                   3                    4                    5                      6
Draw a pattern of data that would support the "positive linear trend" RH but not the: "successive improvement" RH:


   1                  2                   3                    4                    5                      6
DV = Self-report

Obtain the univariate stats (plot below) and omnibus-ANOVA   F(__,___) = _______ ,  p = _____, Mse = ______    



                                         1                  2                   3                    4                    5                      6

What trend(s) seem to be shown in the graph?   

Do the trend analysis            linear trend    
F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______



quadratic trend

F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______



      cubic trend

F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______
Do these data support the "positive linear trend" RH:? ________ Why or why not?

Calculate the LSDmmd:

k = _______,     n = _______,     MSerror = _______,     dferror = _______,      LSDmmd = _______

Perform the EMMEANS comparison to complete the following 

Note:  Record only the pairwise comparisons that are necessary to test the “successive improvement” RH: !!!

     (be sure to label each pairwise comparison you choose)

	pairwise
	
	
	
	
	
	
	
	
	
	

	Means (<,>,=) 
	
	
	
	
	
	
	
	
	
	

	EMMEANS p
	
	
	
	
	
	
	
	
	
	

	r
	
	
	
	
	
	
	
	
	
	


· Identify any pairwise mean differences that fall in each of these categories

· Pairwise differences we are confident are  "significantly different" based on EMMEANS comparison.
· Pairwise differences we are confident are "not significantly different" based on EMMEANS comparison.
· Pairwise differences that are “too small to care about”

· Pairwise differences for which we may have a power problem
Do these results support the "successive improvement" RH: ? ________ Why or why not?

Your Turn #2 – complete the trend analyses and pairwise comparisons for this DVs

DV = Role-Playing

Obtain the univariate stats (plot below) and omnibus-ANOVA   F(__,___) = _______ ,  p = _____, Mse = ______


                                         1                  2                   3                    4                    5                      6

What trend(s) seem to be shown in the graph?   

Do the trend analysis            linear trend    
F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______



quadratic trend

F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______




      cubic trend

F(__,___) = _______ , Mse = _______ , p = _____ ,  r = ______

Do these data support the "positive linear trend" RH:? _________ Why or why not?

Calculate the LSDmmd:

k = _______,     n = _______,     MSerror = _______,     dferror = _______,      LSDmmd = _______

Perform the EMMEANS comparison to complete the following 

Note:  Record only the pairwise comparisons that are necessary to test the “successive improvement” RH: !!!

     (be sure to label each pairwise comparison you choose)

	pairwise
	
	
	
	
	
	
	
	
	
	

	Means (<,>,=) 
	
	
	
	
	
	
	
	
	
	

	EMMEANS p
	
	
	
	
	
	
	
	
	
	

	r
	
	
	
	
	
	
	
	
	
	


· Identify any pairwise mean differences that fall in each of these categories

· Pairwise differences we are confident are  "significantly different" based on EMMEANS comparison.
· Pairwise differences we are confident are "not significantly different" based on EMMEANS comparison.
· Pairwise differences that are “too small to care about”

· Pairwise differences for which we may have a power problem
Do these results support the "successive improvement" RH: ? ________ Why or why not?

10

